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o HIAZRY AL 2,400
=X 50,000 1 x20 1,000
2 X 70,0003 x1H x20 1,400
02 3524l 7,200 6,888 312
OXNEZ2A) RANESXZ 600,000& x12& 7,200
203 ¥R =&H| 128,150 127,970 180
01 J|22IHR=XY| 102,300 102,300 0
OJ#2dd2F&8Y| 102,300
o *EH 58,300,000 58,300
o 2RAEE 40,700,000 40,700
o NXHE=H 3,300,000& 3,300
02 RIS R = XY 25,850 25,670 180
OFAINAMARFEY|
(80,0002 100 )+(60, 000 x200H )+(45,000 25,850
2*130Y)
204 Q@32 Y| 89,400 85,200 4,200
01 S HR-HAY| 89,400 85,200 4,200
OXNHBZHRHZH| 89,400
o #EHEY 650,000 x1H x12& 7,800
033 (7= A) 600,000& x1Hx12& 7,200
042 JIAH(EAAF) 400,000 x1 12 4,800
048 BEXJ|H(=Z2Z) 350,000& x3H x12& 12,600
0532 JAH(SHI12, E&AN2E)
150,000& »13H x12& 23,400
052 BEXJ|IZ(ALHE2, B2AAK2)
100,000& »28H x12& 33,600
401 Al HI L 2 THHI 2,237 0 2,237
01 A& HI 2,237 0 2,237
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